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Fact Fluency +/- 10

10 +4 =

10+ 0 =

N 1O

3+10 =

2 +10=

2.4

5+10 =

~ o

+

13-3=

e

+

Keep going

_>



Problem Solving

VWhat number am |7
| am greaTer than 6 +7.
| am less than 9+9.

You say me when You count b\/ TWOS.
| am NOT the sum of 8+8.

answey:

There are 16 peoP\e on the train. At the first stop, 4 more peoP\e
got on the frain. At the second stop 9 peoP\e got off the frain.
How many peoP\e are on the train?

Part # Part #2

answey:

First in Math

# of stickers at the
begmnmg of the week

# of stickers at the end of
the week




